[ Efficiency vs vertpos |

ertr

>

VS

>

efficienc

Ratio

Efficiend —— %g

N

S
0
>

C

efficie

VTSR SR NS RN S R S

0.5 : : :

045— ------------ e s
e e s
035— ------------ oo s
o s e —
0.2BF-+eseereriereseneens Beeeeeeees e
SN Y S 1
Ay S SO S ¥ .
ol
0.05_5—-----------+ ......... L #—#H% _____
G!"’+.“..u..+ w+'ﬂ*| L
T AN
A

1072 101 1 10 0?
TP vertr (cr%)

IC{HP ggd..n{vmu. +6p0evt
ﬁégé %%igﬁ TEORSLTLIER 1000ewt

—ehoC

11111

0.5

e e
R S S
L
S S o
e A
g
0
0.08F -

............

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N
>
o
£
%
>

C

efficie

Ratio

Tt S S | R S

0.2
S 1

CERY SRR SRS DN S 1

R S e o 1 e
Y I

0.08F
0.06F
0.04F
0.02F
0

..............................

L.

-0 5 0 5 10 15 20
Sim. PV z (cm)

a
T




	Contents
	Page 1


